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( Marks : 35)

1. FaPfie doefm Sua wie ( Raw errefir weity ) 7x5=35

(a)

(®)

(©)

% G sfpe R o eTeeri e Aeewt ST I CAAeI

7ore H AR ? ' oo’ @ ‘aF SHATR'T AL WG | 4+1+2

et

+ e R R srafoaf swret s 3@ | gefereR TS $ @R 2

6+1
SRR ‘e it ¢ ‘ewifers @ftar samn Afee B @ e
BREPER oFT @ I@! | ' 4+3

L E

Torge foar Ffoftere {fe’-a7 SR WL | ‘m'exm'm

H@EE? 6+ 1

mﬂmw«w&mmm?ﬁﬁwﬁmmm
mqﬁgMﬁmwm?mﬁﬂwqam#m%mwmu 3+2+2

et

o e e Re Rl oo omome I By Seonr wege (St

oA FoPITE AT TN | 3+4

N8-GEGR| - 2 of 7




#(12)5050-(10)®-(NS

(d) @ﬂﬁ‘FWWOM<Nmrwvﬁmwcvwam!wndimwnsmuthmﬁ

fireree ‘TSI faw A @ ?
UL

mmﬁumemmeﬁmmm.m'mcmwﬁwm
3+3+1

TR @ 7 P B2
(e) vm&mrevmwé?mmmeummammmwmmmﬁwmwﬂmmmvmu
2+5

L Ll

1ﬂﬁfeﬁwysﬁwﬂwwd§WMﬁwwﬁwnvmn1mﬁwwpnuncfr

@mwcmw¢«m§%wswwx%mwm:aammﬁﬁ«mzmwnm:&rt

FA1 2+2+3

' sorv




#(12)5050-{10)0-(NS)

( ENGLISH VERSION )

1. Answer the following questions ( Alternatives are to be noted ) :

(@)

(b)

(©

7x5=35
Briefly discuss the conditions necessary for the development of Karst

Landform. What is meant by ‘denudation’ ? Define 'blind valley' and
'dry valley'. 4+1+2
OR
Briefly discuss the different methods for conservation of soil. What is
meant by 'eluviation’ ? 6+ 1
Write short notes on ‘genetic diversity' and 'species diversity’ in
Biodiversity. Briefly mention the importance of Biodiversity. 4+3
OR
Explain with suitable diagrams the life-cycle of a 'temperate cyclone'.
What is meant by 'physiologically dry soil' ? 6+ 1
Why is Mediterranean climatic region famous for production of
fruits ? Why is per capita production less in intensive subsistence
agriculture ? Mention two significant characteristics of 'crop rotation'.
3+2+2
OR
Discuss three adverse effects of Green Revolution on Indian
agriculture. Write in short the conditions f;':wourable for the

cultivation of sugarcane. 3+4
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(d) Explain the causes for the concentration of iron and steel industry in

(©)

East-Central part of India. Why is cotton-textile industry called ‘foot-

loose industry' ? 5+12
OR

Discuss the problems for the development of rubber industry in
Brazil. Why is India developed in ‘readymade-garment industry’ ?

What is 'Material Index' ? ‘ 3+3+1

Define ‘overpopulation' and 'underpopulation’. Discuss in brief the

problems of urbanisation in India. , 2+5
OR

Distinguish between ‘'population density’ and 'man-land ratio'.

Mention the importance of 'age;sex ratio’. Mention any three types of

cities according to their functions along with examples from India.

2+2+3
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( HINDI VERSION )
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